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1 |deEE 1.4E+3 1,400.8 1,400.8
2 | BEHRR
3 | 5FER 1.8E+1 18.0 18.0
4 [EWE 5.0E-1 0.5 0.5
5 |FHEE 2 0E+1 20.0 20.0
6 [ILER 7.1E+3 7,110.0 7.110.0
7 |EER 9.0E+0 9.0 1.2E+3 1,200.1 1,209.1
8 |ZEWER 2.2E+1 22.0 4 3E+3 4,288.0 4.310.0
9 [HARE 6.9E+0 6.9 3.9E+1| 7.5E+3 7,539.0 75459
10 [HEE
11 |BEE 2.7E+1| 7.6E+3 7,676.0 7.676.0
12 | TEE 2.3E+1 23.1 23.1
13 |HREER 6.0E+2| 2.1E+2 814.0 814.0
14 |[#FIE 2.6E+1| 3.3E+1 59.0 59.0
15 |#FiRE
16 |EWE 7.8E+1 78.0 4.9E+4 48,712.4 48,7904
17 _|RBINE 2 AE+4 24,006.6 24.006.6
18 |[fEHE 1.0E-1 0.1 01
19 |IWRE 4.9E+3 4,890.0 4,890.0
20 |REHR 2 AE+1 24.0 7.4E+3 7,400.0 7,4240
21 [IHBE 8.7E+1 87.0 87.0
22 |EEE 2.8E+3 2,800.0 41E+1| 4.7E+3 47485 71,5485
23 | BHER 1.1E+4 10,588.6 10,588.6
24 |[ZEE 1.0E+0 1.0 1.3E+0| 7.6E+3 7,553.3 7,554.3
25 |#EER 1.0E+1| 1.4E+1 24.0 3.3E+4 33,000.0 33,024.0
26 |FREBAT 8.0E-1 0.8 08
27 | KBRFF 44E+2| 1.0E+4 10,890.1 10,890.1
28 | EER 5.9E+2 594.3 5943
29 |&ZRER
30 [fOFRILE 3.1E+1 31.0 4 4E+0 4.4 354
31 |EmE
32 |BiRE
33 |[EWLER 6.1E+2 610.0 610.0
34 |[LER 3.2E+1 32.0 5.2E+2 520.0 552.0
35 [wOg 2.3E+2 230.0 230.0
36 |EER
37 _|FBINER
38 |ERE
39 |=BHER
40 |fEEE
41 [EBR 6.9E+0 6.9 6.9
42 |RBE
43 |RERIE
44 [ KHE 1.6E+2 160.0 160.0
45 |=igE 50E-1| 5.0E+0 5.5 1.0E+3 1,000.0 1,005.5
16 |EREE 8.1E+1 81.0 81.0
47 [;hiBe
2 = 1.2E+1] 3.1E+3 3,114.4 1.2E+3] 1.8E+5 185,151.5 188.265.9
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